Percent Yield
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% yield = 


    =  

Actual yield= always a product 



 = given to you in the problem 

Theoretical yield = usually calculated with mass-mass conversions 

   (Mass of reactant to mass of product)

Example: When 36.8 grams of C6H6 react with an excess of Cl2, the actual yield of C6H5Cl is 38.8g.  What is the percent yield of C6H5Cl?

C6H6 + Cl2 ( C6H5Cl + HCl

T.Y. =  ________________________________
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Actual amount of product 


Calculated amount of product that is possible * 100 





Actual yield 


Theoretical yield * 100 





Actual            *  100           


Theoretical  








3	8.8 g C6H5Cl   *      100      


	        g C6H5Cl           �








